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LHMEZA BELSERFREERME

(B : )
® =| LERE BIEE # R
I —RRIERM BRI OE
1. BEHEBEOR
(1) BEINE
ZWMFf T4 13, 000, 000] | [ 11, 000, 000] | [ 2, 000, 000]
TS 13, 000, 000 11, 000, 000 2, 000, 000
TRER Y& 1, 000, 000] | [ o] | [ 1, 000, 000]
ZHFE 4111 191 [ 22]
ZEFIE 41 19 22
BEINSE 14, 000, 041 11, 000, 019 3, 000, 022
(2) BREER
BEE 12,037, 248] | [ 9,892, 161] | [ 2, 145, 087]
KB & 10, 100, 000 7, 200, 000 2, 900, 000
BERA 240, 000 240, 000 0
e 420, 000 210, 000 210, 000
RERBE 70, 754 11,977 58, 777
BiEERE 6, 806 6,113 693
HFEM AR 451 331,331 | A 330, 880
ZtHE 818, 620 1,793,130 | A 974, 510
-tirs 351, 709 46, 847 304, 862
BN 2, 255 37,902 | A 35, 647
R 26, 653 14, 861 11,792
ETHE 649, 320] | [ 1,050, 924] | [A 401, 604]
e 180, 000 90, 000 90, 000
REZBE 15, 546 5,133 10, 413
BIEERE 2,016 2,619 | A 603
HEERE 99 141,999 | A 141, 900
LR 290, 400 768,484 | A 478, 084
R 150, 732 20, 077 130, 655
HBLARE 0 16,243 | A 16, 243
et 10, 527 6, 369 4, 158
REBRA 12, 686, 568 10, 943, 085 1, 743, 483
SR 2 S TR AT 24 AR B VAR 1,313,473 56, 934 1, 256, 539
Balit e 0 0 0
Y HRE AR 1,313, 473 56, 934 1, 256, 539
2. BRENEROH

(1) REHEIE
REIMNIEE 0 0 0

(2) BEHNER
BEANBRR 0 0 0
LR S A 0 0 0
X A — A% IE bR B BE LR RAR 1,313, 473 56, 934 1, 256, 539
—RIERBEREES 3,149, 516 3, 092, 582 56, 934
—RIEBRMERE R 4, 462, 989 3,149, 516 1,313, 473




) LR HIERE # m

I IEFEERMESBROE
BEA M= B [ 103, 744, 5001 | [ o] | [ 103, 744, 500]
AR [ 1,097,280] | ol L 1, 097, 280]
REEEMEREE [ 4, 660, 500] | [ 0]l 4, 660, 500]
— AR IEBRRAE ~ D IREER A 1, 000, 000] | [ o] [A 1, 000, 000]
X HA S TE 1F BRI PEYE AR 108, 502, 280 0 108, 502, 280
BEERMEREERS 0 0 0
R ERMENRER 108, 502, 280 0 108, 502, 280
I ERMEHRES 112, 965, 269 3,149, 516 109, 815, 753




